










a) 3√5  cm

b) 3√7 cm

c) √13 cm

d)
5

2
√7 cm

BD and CE are the medians of Δ ABC, right angled at A. If CE = 5√13 cm, 

BC = 10 cm, then the length of BD is:

BD और CE Δ ABC की माध्यिकाए ंहैं, जो A पर समकोण है। िध्ि CE = 5√13 सेमी, BC 

= 10 सेमी है, तो BD की लंबाई क्िा है?



a) 6 days

b) 3 days

c) 2 days

d) 4 days

A can complete a certain work in 30 days. He started the work. After 4 days, 

B joined him and the whole work was completed in 10 days from the 

beginning. B alone can complete one-third of the same work in:

A एक ध्िध्ित कािय को 30 ध्ििों में पूरा कर सकता है। वह कािय को प्रारम्भ करता है। 4 ध्ििों 

के बाि, B उसके साथ जुड़ जाता है और पूरा कािय प्रारम्भ से 10 ध्ििों में पूरा हो जाता है। B 

अकेले समाि कािय का एक-ध्तहाई भाग ध्कतिे समि में पूरा कर सकता है?



a) −9/29 

b) 9/29

c) −189/580

d) 189/580

In Δ ABC, ∠A = 90°, AB = 20 cm and BC = 29 cm. What is the value of (sinB

– cotC)?

Δ ABC में, ∠A = 90°, AB = 20 सेमी और BC = 29 सेमी है। (sinB – cotC) का माि 

क्िा है?



a) 4

b) 2

c) 0

d) 1

When (224 – 1) is divided by 7, the remainder is:

जब (224 – 1), 7 से ध्वभाज्ि है, तो शेषफल क्िा होगा?



a) 5.85 cm

b) 4.29 cm

c) 3.76 cm

d) 6.75 cm

The perimeters of two similar triangles ABC and PQR are 156 cm and 46.8 

cm, respectively. If BC = 19.5 cm and QR = x cm, then the value of x is:

िो समरूप ध्िभुजों ABC और PQR के पररमाप क्रमशः 156 सेमी और 46.8 सेमी हैं। िध्ि 

BC = 19.5 सेमी और QR = x सेमी है, तो x का माि क्िा है?



a) 2

b) –2

c) –4

d) 3

If a + b + c = 7 and a3 + b3 + c3 – 3abc = 301, then ab + bc + ca = ?

िध्ि a + b + c = 7 और a3 + b3 + c3 – 3abc = 301 है, तब ab + bc + ca = ?



a) 16

b) 15

c) 18

d) 12

By selling 3 dozen oranges for Rs. 405, a trader loses 25%. How many oranges 

should he sell for Rs. 288 if he needs to earn a profit of 20% in the 

transaction?

3 िजयि संतरे 405 रुपिे में बेचिे पर, एक व्िापारी को 25% की हाध्ि होती है। िध्ि उसे लेििेि 

में 20% का लाभ अध्जयत करिे की आवश्िकता है, तो उसे 288 रुपिे में ध्कतिे संतरे बेचिे 

चाध्हए?



a) 21,000

b) 21,168

c) 20,160

d) 21,063

What is the cost (in Rs.) of levelling a triangular park with sides 60 m, 112 m 

and 164 m at the rate of Rs. 10.50 per m2 ?

60 मीटर, 112 मीटर और 164 मीटर भुजाओ ंवाले एक ध्िभुजाकार पाकय  को 10.50 रुपिे प्रध्त 

वगय मीटर की िर से समतल करिे की लागत (रुपिे में) क्िा है?



a) 8.8

b) 16

c) 12

d) 4.8

Chords AB and CD of a circle intersect externally at P. If CD = 11.6 cm, PD = 

6.4 cm and PB = 7.2 cm, then AB (in cm) is equal to:

एक वतृ्त की जीवाए ँAB और CD बाह्य रूप से P पर प्रध्तच्छेि करती हैं। िध्ि CD = 11.6 

सेमी, PD = 6.4 सेमी और PB = 7.2 सेमी है, तो AB (सेमी में) का माि ध्कसके बराबर है?



a) 9,000

b) 10,000

c) 8,000

d) 7,500

If the difference between the compound interest compounded annually and 

the simple interest on a certain sum of money for three years at 10% per 

annum is Rs. 279, then the sum (in Rs.) is:

िध्ि एक ध्िध्ित राध्श पर तीि वषों के ध्लए 10% प्रध्तवषय की िर से चक्रवधृ्ि ब्िाज और 

साधारण ब्िाज के बीच का अंतर 279 रुपिे है, तो मूल राध्श (रुपिे में) क्िा है?



a) 90.60

b) 93.20

c) 91.80

d) 95.40

The marked price of an article is Rs. 480. A person buys it at two successive 

discounts of 15% and 10%. He sells it at a profit of 25%. What is his profit (in 

Rs.)?

एक वस्तु का अंध्कत मूल्ि 480 रुपिे है। एक व्िध्ि इसे 15% और 10% की िो क्रमागत छूटों 

पर खरीिता है। वह इसे 25% के लाभ पर बेचता है। उसका लाभ (रुपिे में) क्िा है?



a) 1 : 4 

b) 5 : 7

c) 5 : 28

d) 7 : 8

There are three numbers. If the ratio of the first to the second number is 2 : 7 

and that of the second to the third number is 5 : 8, then the ratio of the first to 

the third number is:

तीि संख्िाए ंहैं। िध्ि पहली संख्िा से िूसरी संख्िा का अिुपात 2 : 7 है और िूसरी का तीसरी 

संख्िा से अिुपात 5 : 8 है, तो पहली संख्िा से तीसरी संख्िा का अिुपात क्िा है?



a) 8

b) 12

c) 15

d) 9

X and Y start at the same time to ride from place A to place B, which is 80 km 

away from A. X travels 4 km per hour slower than Y. Y reaches place B and 

at once turns back, meeting X, 16 km from place B. Y's speed (in km/h) is:

X और Y एक ही समि में स्थाि A से स्थाि B पर जािे के ध्लए शुरू करते हैं, B,  A से 80 

ध्कमी िूर है। X, Y की तुलिा में 4 ध्कमी प्रध्त घंटे धीमी गध्त से चलता है। Y स्थाि B पर 

पह ंचता है और वापस मुड़ता है और स्थाि B से 16 ध्कमी िूरी पर X से ध्मलता है। Y की गध्त 

(ध्कमी/घंटा में) ध्कतिी है?



a) 21.5%

b) 20.8%

c) 16.4%

d) 22.7%

In a constituency, 55% of the total number of voters are males and the rest 

are females. If 40% of the males are illiterate and 40% of the females are 

literate, then by what percentage is the number of illiterate females more than 

that of the illiterate males (correct to one decimal place)?

एक ध्िवायचि के्षि में, मतिाताओ ंकी कुल संख्िा का 55% पुरुष हैं और शेष मध्हलाए ंहैं। िध्ि

40% पुरुष ध्िरक्षर हैं और 40% मध्हलाए ंसाक्षर हैं, तो ध्िरक्षर पुरुषों की तुलिा में ध्िरक्षर 

मध्हलाओ ंकी संख्िा ध्कतिे प्रध्तशत अध्धक है (एक िशमलव स्थाि तक सही ध्लध्खए)?




